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Q.1

(i) Define Crime.
ST H g B

(ii) Classified the criminals according to Sutherland.
HEXAYS B STIER STIRET H FHT H

(iii) What do you understand by youth unrest.
JaT STEAY § AT T G o7

(iv) What is personal problem?
AT THET FT1 &7

(v) What is Gona system in Rajasthan?
o & AT T R R?

(vi) What is gender ineqality?
T ST = 37

(vii) Who has classified material and non material
cuiture?

Afers a1 A Tepla 1 BT fhem fear?
(viii) Mention the two basis of disparity in Inida.

G H TEHE B & U H S B

(ix) When was Domestic Violence Act passed in
India?

IR 7 i B e w9 e gen?
(x) Write a definition of marriage. -

forare &t ofvem e

Section-B
(Short Answer Types Questions)

Note: Answer any four questions. You delimit your answer

in maximum 200 words. Each question carries 10
marks. 4x10=40

(2) BSW-12

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

Q.9

gUe-§

(FregeraeT 5 )
et TR a9At & IOX AR oY ST IEX @ tfdreaH
200 s<) & qRefife T s@® g5 10 S H B

Differentiate between personal and social problems.

T Ug Ao 98 § STX W Hifor

Write the characteristics of Inequality.

forsrar @t faQrwamstt & e

Show the Classification of the crminals according to

Lombroso.
Al B STIER TR F FB aNE
Discuss the main causes of illiteracy in India.

ARG 7 FRERar & 7@ HO B W Hiowdl

Explain the concept of child widow in Rajasthan.

T | S e # erauRen @ gneEdl

Comment on bonded labour.

FgaT Hoigy W feapell fafw

Discuss the causes of youth unrest in India.
qRa F Far SFEIY B HRON B AR B
Elaborate the meaning of domestic violence.

o R & o o g RaT BT

(3) P.T.0.



